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Reactance and Resistance in Parallel
By the Engineering Department, Aerovox Corporation

COMBINATIONS of reactance and
resistance in parallel are used fre-

quently in radio circuits, for instance
when bias resistors or voltage dividers
are bypassed. Yet the subject is not
clear which results in imitating some-
one else's design rather than calculat-
ing the required constants. The reason
is of course that the equation for paral-
lel reactance and resistance is rather
cumbersome. Those who are ac-
quainted with it, think it takes too
much time while there are those who
do not know the equation and would
not be able to solve it if they did know
it. The chart in this article, it is
hoped, will painlessly answer all prob-
lems regarding parallel circuits.

When a resistance is in parallel
with a reactance (either inductive or
capacitive), the resultant impedance
of the combination is found from the
expression

Z - XR

R + X'
Sometimes Z and R are given and X
has to be found or Z and X are given
and R is the unknown. In that case
the equation can be solved for X and
R and we have
X = ZR R - ZX

If R2 - Z' I/ X' - Z'
In all three of the above equations

X can be either inductive reactance
(X=6.28 fL) or it can be capacitive in
which case X=1/(6.28 f C) where f is
in cycles, L in henries and C in farads.

To make a chart which will solve
these equations is not easy, due to the
peculiar form of the expression. Also,
most readers would no doubt like to
be spared the calculation of X before

using the chart. This would mean
that there are three independent vari-
ables, which ordinarily cannot be
solved in one operation in a two-di-
mensional medium. So, in order to
reduce the number of independent
variables to two, X and R are meas-
ured along the coordinate axes but
alongside the X scale are shown two
other scales, which give the corre-
sponding values of fL and fC for each
value of X. Since f and C are gener-
ally very simple numbers, it will not
be difficult to multiply ther 1 mentally
before solving the probler i with the
chart. Incidentally, f is in cycles, C
in microfarads and L in henries for
the scales shown.

Full logarithmic pa-er has been
used because it permits the coverage
of a more extended range with the
same accuracy everywhere. The
range of the chart can be further ex-
tended by multiplying Z, X and R by
the same factor. fL would have to be
multiplied with the same factor too
but fC would have to be divided by it.
A few examples will no doubt clarify
the procedure.

EXAMPLES
Example 1: A 1000 ohm bias re-

sistor in an audio amplifier is bypassed
by a condenser of 8 mfd. What is
the resultant impedance between cath-
ode and ground at 100 cycles.

Solution: Obviously, fC is 800;
entering the chart at fC=800 on the
horizontal axis, follow the vertical line
until it intersects with the horizontal
line R=.10C ). The point of intersec-
tion lies b tween the curves Z=100
and Z=200. Estimating the value of
Z we obtain 195 ohms. It shows that
the condenser is an unsatisfactory by-
pass at 100 cycles and this will be
worse at lower frequencies which can

easily be seen from the chart. At 30
cycles there is practically no bypass-
ing effect and the impedance is nearly
1000 ohms.

Note that in this example, X was
199 ohms which is about one fifth of
R and that Z is but slightly less than
X. This will always occur when
either one of the quantities X and R
is much larger than the other. The
reader might memorize the following
useful rule: When one of the two
quantities X and R is more than five
times as large as the other the re-
sultant impedance is nearly equal to
the smallest of the two quantities.
The error made in this way is very
small: two percent when the ratio is
5 and one half percent when the ratio
is ten.

Example 2: The capacity across a
diode load resistor of .5 megohm is
100 mmfd. How much does this de-
crease the impedance of the load at
5000 cycles?

Solution: In this case fC equals .5
and X equals 320000 ohms. These
values are beyond the range of the
chart, so divide both R and X by 1000.
Locate the intersection of the lines
R=500 and X=320. This is between
Z=200 and Z=300. By estimation:
Z=260. The answer to the question
is then, Z equals 260,000 ohms. The
result shows the disastrous effect of
having so much capacity across the
resistor; it will cut the signal voltage
in half at 5000 cycles but not at the
lower frequencies.

Example 3: What is the resultant
impedance of a 100 henry choke in
parallel with a .25 megohm resistor at
1000 cycles. Solution: In this case
fL is 100,000 and X is 628,000
ohms. Dividing both R and X by
1000, find the intersection of the lines
R=250 and X=628; Z is then 235.
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The answer is 235,000 ohms. It is now
very simple to find the complete fre-
quency characteristic of the parallel
combination. Following the horizon-
tal line R=250 it is found that at 500
cycles (fL=50,000) Z equals 190,000
ohms and at 100 cycles Z=93000 ohms,
etc. This type of parallel load is often
used in impedance coupled amplifiers.
The parallel resistor has the effect of
flattening out the frequency charac-
teristic if the values are properly
chosen. In the above example the
constants are apparently not right.
Either the resistor should be smaller
or the inductance larger.

The idea is to make X considerably
larger than R at low frequencies, in
that case Z will be nearly equal to R
throughout the range. The d. c. resis-
tance however, is equal to that of the
choke which avoids the loss in voltage
as in resistance coupled amplifiers.

As an example of how the chart can
also be used backward. Suppose in
the above example the resistance
value is retained, how large should
the choke be in order that at 100 cy-
cles Z will be 200,000 ohms? Dividing
all values by 1000 again, follow the
horizontal line passing through the
point R=250 and find its intersection
with the line marked Z=200, then fol-
low the vertical line downward from
this point and read X=330. So the
reactance of the choke should be
330,000 ohms, fL should be 52,500 and
the inductance 525 henries.

THE TABLE
For those who wish greater accur-

acy than the chart affords, the table
has been calculated. The table again
has been prepared so as to permit the
finding of any one of the three quan-
tities X, R or Z when the other two
are given. When X and R are given,
divide the larger of the two quanti-
ties into the smaller one and thus get
a ratio less than 1. Find this ratio
in the left column and multiply the
number obtained in the second column
by R or X whichever is the larger and
find Z.

The same can probably be under-
stood better by saying that the col-
umn shows the corresponding values
of X and Z when R equals one, or the
values of R and Z when X = 1. Ob-
viously, since it is always possible to
divide the larger of the two quantities
X and R into the smaller one or vice
versa, the table needs to be calculated
only for values from 1 down or up
but not both ways. It was intended
to calculate the table only for values
of R/X or X/R from 1 to .1 but it
was found that in that way it is not
possible to work the problem back-
wards, that is, when Z is given. So,
it became necessary to extend the
table above 1 but only a few values
between 1 and 10 are given; enough
to provide nearly every value of Z/R
but not enough to provide all values
of R/X above 1. Therefore one should
divide R into X or X into R so as
to get a ratio less than 1.

Suppose R equals 1000 ohms and
X is 200 ohms, which makes X/R

E R VOX 1
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.20. The table shows us that Z/R is
then 0.1961. Multiplying by R, we
have Z = 0.1961 x 1000 = 196.1 ohms.

Similarly, in the last example of the
choke, R was 250,000 and Z 200,000
ohms. Then Z/R = 0.80. Entering
the table now by the second column,
we find that X/R is between 1.3 and
1.4. Interpolation is necessary if
greater accuracy is desired; this yields
the answer X/R = 1.33. Then X
equals 1.33 x 250,000 = 332,000 ohms.

POWER FACTOR

0-1
1NYV

It should be clear that the above
calculations assume the power factor
of the reactance to be zero, or that
the reactive branches have no resist-
ance. This is of course not the case
with any practical reactance. How-
ever the error is surprisingly small
when the power factor is no more
than 10 percent, or the Q of the coil
not less than 10.

TABLE OF REACTANCE AND RESITANCE
VALUES IN PARELLEL

X/R or R/X Z/R or Z/X X/R or R/X Z/R or Z/X
0.10 0.0995 0.68 0.5623
0.11 0.1093 0.69 0.5679
0.12 0.1191 0.70 0.5735
0.13 0.1289 0.71 0.5789
0.14 0.1386 0.72 0.5843
0.15 0.1483 0.73 0.5895
0.16 0.1580 0.74 0.59480.75

0.60000.17 0.1676 0.76 0.60510.18 0.1771 0.77 0.6101
0.19 0.1867 0.78 0.6150
0.20 0.1961 0.79 0.6199
0.21 0.2055 0.80 0.6246
0.22 0.2149 0.81 0.6289
0.23 0.2242 0.82 0.6341
0.24 0.2334 0.83 0.6387
0.25 0.2425 0.84 0.6432
0.26 0.2516 0.85 0.6477
0.27 0.2607 0.86 0.6520
0.28 0.2696 0.87 0.6564
0.29 0.2785 0.88 0.6606
0.30 0.2874 0.89 0.6648
0.31 0.2961 0.90 0.6690
0.32 0.3048 0.91 0.6730
0.33 0.3134 0.92 0.6771
0.34 0.3219 0.93 0.6810
0.35 0.3304 0.94 0.6849
0.36 0.3387 0.95 0.6888
0.37 0.3470 0.96 0.6925
0.38 0.3552 0.97 0.6963
0.39 0.3634 0.98 0.6999
0.40 0.3714 0.99 0.7036
0.41 0.3793 1.00 0.7071
0.42 0.3872 1.10 0.7400
0.43 0.3950 1.20 0.7682
0.44 0.4027 1.30 0.7926
0.45 0.4103 1.40 0.8137
0.46 0.4179 1.50 0.8320
0.47 0.4254 1.60 0.8480
0.48 0.4327 1.70 0.8619
0.49 0.4400 1.80 0.8742
0.50 0.4472 1.90 0.8850
0.51 0.4543 2.00 0.8944
0.52 0.4613 2.20 0.9104
0.53 0.4683 2.40 0.9231
0.54 0.4751 2.60 0.9333
0.55 0.4819 2.80 0.9418
0.56 0.4886 3.00 0.9487
0.57 0.4952 3.20 0.9545
0.58 0.5017 3.40 0.9594
0.59 0.5082 3.60 0.9635
0.60 0.5145 3.80 0.9671
0.61 0.5208 4.00 0.9702
0.62 0.5269 5.00 0.9807
0.63 0.5330 6.00 0.9864
0.64 0.5390 7.00 0.9902
0.65 0.5450 8.00 0.9921
0.66 0.5508 9.00 0.9939
0.67 0.5566 10.00 0.9950
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AEROVOX
CONDENSERS

and
RESISTORS

HAMS, experimenters, manufacturers, communi-
cation companies ... they have long stand-

ardized on AEROVOX condensers and resistors.
Performance alone is responsible for such patron-
age. We take just pride in a growing roster of old-
time customers. And more than ever before, we
entrust our main sales effort to those AEROVOX
components functioning in millions of radio assem-
blies. There are no better salesmen.

 Engineered for Quality
Such popularity rests on inherent quality. And
quality, in turn, on sound engineering. If you could
but spare the time-and this is a standing invita-
tion-to visit our plant, you would see for yourself
the original research and engineering efforts, meti-
culuous selection of raw materials, constant check-
up on production, and the study of applications
and trends, behind our products. You would then
know the reason for those service -PLUS character-
istics that go with the AEROVOX label.

 Mass -Produced for Price 
And the lower prices, too, would be explained by
our production plant of over 80,000 square feet,
with a personnel averaging 1000 and equipped
with the latest labor-saving machinery. For with
mass production of carefully engineered units
comes low-priced quality products-or simply
AEROVOX, for short.

FREE DATA log
Send for latest cata-

covering com-
plete line of condensers and resistors. Also sample
copy of monthly Research Worker-the cream of
the crop of practical radio data-fresh from the
laboratory.

AEROVOX CORPORATION H
70 WASHINGTON STREET, BROOKLYN, N. Y.

Sales Offices in All Principal Cities


